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These theorems belong to a class of
theorems " from old limits new
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Inthe Sandwich squeeze then we

have three functions
call then f, g , h .

Two are friends , one is foe .
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the last three green boxes
tell us what

to lake for8µ= min{feel, daKB#
Now the final proof . %

Let e so be arbitrary . S .-et Sgle) - min{feel, sales,%)
Now we need toprove the implication :

o six- al s min tea,Keimig -¥EHgH
-LK e

Proof of ⇒



Assume ostx-akaninfde.ca , detain.}⑤
Then Os H -ally . . therefore XE (

a- no ,a)Ula , at%) .

By the assumption③ this implies
fcxisgcxishcx⑨

Also ,it follows -from AAO that oak
- akdfce) .

Since Lima FCN=L, condition
(E) reads

04k- ale dela -7¥ L
- E s

-fuk Lt e

consequently , L- E SfG) ⑥

Further itfollows from④ that oak- al s date)



Since finna hey=L , condition CI) reads

04 x-ak Sale) ⇒ L- e s
hcxk Lt E

From the last two green
boxes wededuce

hG) L Lt E DO
Now we summarize our findings : we
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